
Aluminum Roof for
Textron Wildcat XX

Read through all instructions before
install.

Hardware:
(qty)
2 C Clamps
4 6 x 16mm Bolts
4 1/4” x 1” Bolts
12 1/4” Flat Washers
4 1/4” Lock Nuts

Step 1: Place both mounts
on the roll cage in
approximate locations.

Step 2: Place roof on roll cage. Loosely mount the rear of the roof using the
6mm bolts on the billet mount and the ¼” bolts in the rear corners. Use
washers on bolt side and nut side of bolts.

Step 3: Pushing down on the front of roof to conform to roll cage, start the 2
6mm bolts into the billet mount. Install the two front corner bolts.

Step 4: Tighten all bolts
until snug.


